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Purpose

» Transportation ranked as #2 issue in recent Citizen
Survey

» Statistically significant, deeper dive into residents’
opinions around transportation
» Inform outreach and education efforts (Council Priority)
» Potential baseline for future tracking
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20138 Citizen Survey

4770
ISSUE AGENDA .
. Cityof \gzr
Important Community Issues Kelowna
(Coded Open-Ends, Multiple Responses Allowed)
TOTAL MENTIONS it e Mol
(n=300) (n=301) (n=300)
Social (NET) 51% 4 4% 16% 17%  16%
Transportation (NET) 43% 39% 38% 37% 34%
Crime (NET) 11% 4% 8% 9% 8%
Growth and development (NET) 00 10% 15% 13% 17% 15%
Municipal government services (NET) ¥ 6% 8% 7% &% 12%
Parks, recreation, and culture (NET) ¥ 6% 7% 12% 12% 7%
Taxation/municipal government spending (NET) [l 4% 2% 4% 10%  10%
Education (NET) Wl 3% 3% 3% 7% 7%
Healthcare (NET) B 3% 3% 5% 5% 4%
Economy (NET) || 2% 3%  12%  12% 7%
Environment (NET) J| 2% 2% 4% 6% 4%
Other (NET) I 2% 5% 10% 4% 10%

None/nothing [l 5%
Don'tknow W 3%
M First mention ™ Second mention
Q1. Inyourview, as a resident of the City of Kelowna, what is the most important issue facing your community,
that is the one issue you feel should receive the greatest attention from local leaders? Are there any other
important local issues? E i
Base: Allrespondents (n=300)

© 2018 Insos
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Survey Methods

» Conducted between November 18 — 29", 2019
» Random calling (landlines and cell phones)

» 300 Responses
» Margin of error +/- 5.7%

» Weighted to match population by age, gender, and
neighbourhood (FSA)
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Survey Topics

» Top transportation issues
» Causes of congestion
» Solutions

» Modes of travel
» Barriers to changing behaviour

» Transportation identity
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Postal Codes

V1Y — Central
V1V — North
Vax/V1P — East
ViW - South

VaV.

VX V1P,




Transportation Issues

» Paired choice

» “Which transportation issue is more important for
Kelowna?”

» Twelve issues, randomly paired for each respondent

» Example — “Injuries or deaths from collisions or the
time it takes to get places?”

City of Kelowna



“*Which transportation issue is most important in Kelowna?”

Helping people of all ages and abilities get around 72%

The time it takes to get places 64%
Dependence on owning a car to get around 57%

Value for tax dollars spent on transportation

The impact of congestion on the economy

The cost of transportation for people

Injuries and deaths from collisions

Helping people be more active

Climate change and environmental impacts

Adapting to new technologies = %% Win

Walkability of urban centres

Street amenities and attractiveness




“*Which transportation issue is most important in Kelowna?”

Helping people of all ages and abilities get around
The time it takes to get places

Dependence on owning a car to get around
Value for tax dollars spent on transportation
The impact of congestion on the economy
The cost of transportation for people
Injuries and deaths from collisions

Helping people be more active

Climate change and environmental impacts
Adapting to new technologies

Walkability of urban centres

Street amenities and attractiveness

55 Plus

I 85%

64%

19 to 34
57% 72%
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o% 35
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49%
49%
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43%

41%

30%



“*Which transportation issue is most important in Kelowna?”

Helping people of all ages and abilities get around
The time it takes to get places

Dependence on owning a car to get around
Value for tax dollars spent on transportation
The impact of congestion on the economy
The cost of transportation for people
Injuries and deaths from collisions

Helping people be more active

Climate change and environmental impacts
Adapting to new technologies

Walkability of urban centres

Street amenities and attractiveness

| 72% 19 to 34
64% 67%

______EZ

7 54% 35 Plus

I c0% 53%

* 49%

* 49%

7 46%

7 46%

* 43%

7 41%

7 30%




“*Which transportation issue is most important in Kelowna?”

Helping people of all ages and abilities get around 72%
o i . Central
The time it takes to get places | 64% 20%
Dependence on owning a car to get around 57%
Value for tax dollars spent on transportation 54%
The impact of congestion on the economy 50%
The cost of transportation for people 49%
Injuries and deaths from collisions _ 49% East 49%
Helping people be more active 46%
Climate change and environmental impacts 4,6%
Adapting to new technologies 43%
Walkability of urban centres 41% North/
. South
Street amenities and attractiveness 30% 36%



“*Which transportation issue is most important in Kelowna?”

Helping people of all ages and abilities get around
The time it takes to get places

Dependence on owning a car to get around
Value for tax dollars spent on transportation
The impact of congestion on the economy
The cost of transportation for people
Injuries and deaths from collisions

Helping people be more active

Climate change and environmental impacts
Adapting to new technologies

Walkability of urban centres

Street amenities and attractiveness

72%
64% >$125K
| 57% 62%
54%
50%
49%
49% <$80K
il 6% 48%
0
I -
43%
| 41% $80K to
i $125K
30% 28%




"Please rate each item in terms of how much impact
it has on traffic congestion”

B High Impact ® Medium Impact B Low Impact ® Don't Know

There are too many people driving alone during
rush hour

Not enough convenient options other than driving
Cars and trucks just passing through Kelowna

Traffic lights slow down traffic

There are not enough roads or roads aren’t wide
enough for cars
Kelowna’s economy is doing well, and more people
are employed
Duplexes, townhouses, and apartments being built
in the centre of the city

Houses being built on the edge of the city

People walking, biking, or buses slow down traffic

City of Kelowna



"Please rate each item in terms of how much impact
it has on traffic congestion”

Other FSAs
66%

There are too many people driving alone during
rush hour

Not enough convenient options other than driving

Cars and trucks just passing through Kelowna

Traffic lights slow down traffic

There are not enough roads or roads aren’t wide
enough for cars
Kelowna's economy is doing well, and more people
are employed
Duplexes, townhouses, and apartments being built
in the centre of the city

Central 44%

Houses being built on the edge of the city

People walking, biking, or buses slow down traffic
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"Please rate each item in terms of how much impact
it has on traffic congestion”

There are too many people driving alone during
rush hour

Not enough convenient options other than driving

Cars and trucks just passing through Kelowna

Traffic lights slow down traffic

There are not enough roads or roads aren’t wide
enough for cars
Kelowna’s economy is doing well, and more people
are employed
Duplexes, townhouses, and apartments being built
in the centre of the city

South 42%

Houses being built on the edge of the city

East 24%

People walking, biking, or buses slow down traffic
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"How much do you agree or disagree with
each of the following statements?”

Other FSAs
62%
» "l would like to walk, bike,
or take transit more than | 54%
do today”
East 34%
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"How much do you agree or disagree with
each of the following statements?”

o—5Yearsin
Neighbourhood

» "l would like to walk, bike, 64%
or take transit more than | 54%
do today”
10+ Years in
Neighbourhood
48%
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"How much do you agree or disagree with
each of the following statements?”

» | would be willing to pay South 54%
more taxes to improve 0

transportation in Kelowna” 44% <
East 33%

o Male 24%
» "l would be willing to pay a

new fee to drive more 17%
easily during hour”
Female 11%

City of Kelowna



"How much do you agree or disagree with
each of the following statements?”

[ ] [ ] . O
» "Building more roads is Fast bg%
the long term solution for 0
traffic congestion” 51%
Other FSAs
4:4%
. _ South 68%
» "Reducing dependence on
cars is the long-term 56%
solution for traffic
Conge5t|on” Other FSAs
51%
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“"How likely would you be to use the following means
of getting around for regular trips next year?”

W Very likely ®m Somewhat likely ® Neither likely nor unlikely = Somewhat unlikely m Very unlikely

walk

ke

Corpool
Taxioride-ha

Shared Bike 13% 4,6%

Carshare 8% 4,8%
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“"How likely would you be to use the following means
of getting around for regular trips in the next year?”

walk ss125K -
0
cice S 7%
<$125K -
Carpoo o
Taxi or ride-hail
Shared Bike
Carshare
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“"How likely would you be to use the following means
of getting around for regular trips in the next year?”

wa Central-
0
Bike 4%
Other FSAs -
Carpoo o
Taxi or ride-hail

Shared Bike
Carshare

City of Kelowna



Transportation Identity

» “Overall, in terms of your lifestyle around
transportation, how would you identify yourself?”

80%
70%
59%

Total 18 t0 34 Central

M Driver M Publictransitrider m Bicyclist ™ Pedestrian ® Other
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Transportation Identity

» "If you were to choose only one identity for
yourself, what would it be?”

oo

M Driver M Publictransitrider m Bicyclist ™ Pedestrian ® Other
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Solutions

» "If the City invests in or Bad Idea
promotes walking, biking,
transit or other sustainable
modes to reduce future
dependence on privately

owned vehicles, it would be
3. " Neutral, 13%
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Solutions Male —

17%
Bad Idea
0
12% Female —

North/South — 2%

81%
Neutral, 13%
East — Good / Very Good Idea

61%
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Key Takeaways

» Support for promoting and investing in
transportation options

» Impact of pass-through traffic overestimated
» 10% of traffic on Highway g7 is passing through the City

» Link between land use and transportation not well
understood
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Questions?

For more information, visit kelowna.ca.



